620

W
a1
2
F=
2
S
~
IS
>
e
©
2
ey

W
a1
o
(o
=
S
=
N
b
i,
o
X
(o)]

Intensity (counts/1000) O Intensity (counts/1000) o Intensity (counts/1000)
© & & ¢© 38 © & & & 3 © & © & ©° o
6 Smectite Mica/llit
ica/lllite ) ' ' )
- - Mica/lllite - Mica/lllite
[« [ok [ok
Chlorite/Kaolinite Chlorite/Kaolinite Chlorite/Kaolinite
Mica/lllite ica/lllite Mica/llit
n | n | n IC ite
o Quartz o Quartz o Quartz
Calcite
Quartz Quartz
Quartz
o Feldspar Feldspar .
@ @ @ alcite
L N N Mica/lllite
> @ Calcite
5 W &5 w o 5] Calcite © T
ag A ]
2z ez Calcite &3
= Mica/lllite = 8 Mica/lllite = 8 Mica/lllite ;E
iNge) 0 %allcltt% £ 8
53 23 alci Q.
8 {— Quartz + g 31— Quartz » % 3 Quartz PO
® £ ® £ o8
Xz X g x=
r N oo ~
o B N @ -
o k N o | N o | N
S N S r N S o
o5} ©
o o Q
3 3 3

62.

w
()]
oA
(e
=1
N
~
N
>
11
(22)
&
4

Intensity (counts/1000)

>

n
[$)) o [$)) o
o o o o o
= Mica/lllite
=y
Mica/lllite
n |
© Quartz
Quartz
Feldspar
L1 Calcite
5 w o
(%))
3
. . C ¢
Mica/lllite =8
£
(411 (]
3 1¥ Quartz =
o C
X g
N2
© 6
o | L
o o
(¢}
3




